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System.out.printin (“Hello Bangladesh!);
System.out.printin (“Hello Bangladesh!);
System.out.printin (“Hello Bangladesh!);
System.out.println (“Hello Bangladesh!);
System.out.println (“Hello Bangladesh!);
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System.out.printin (“Hello Bangladesh!);
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public class ConvrtInNote
public static void main(String args[])

int t500=0, t100=0, t50=0, t20=0, t10=0, t5=0, t2=0, t1=0;
inta = Integer parseInt(args[O]), //1
System.out.printin(a + * taka is converting in note”);
System.out.printin(*——————————— ")
t500=a/500; /]2

if (t500 !=0)

System.out.printin(*500 Taka note need : “
t100=(a-(t500*500))/100; //3

+ t500 + “ piece”);

if (t100 !=0)

System.out.printin(*100 Taka note need : * + t100 + “ piece”);
t50=(a-(t500*500 + t100*100))/50; /14

if (t50 !=0)

System.out.printIn(*50 Taka note need : “ + t50 + " piece”);
t20=(a-(t500*500 + t100*100 + t50*50))/20; //5

if (t20 !=0)

System.out.printIn(*20 Taka note need : “ + t20 + " piece”);

t10=(a-(t500*500 + t100*100 + t50*50 + t20*20))/10;//6

if (t10 !=0)

System.out.printin(*10 Taka note need : “ + t10 + " piece”);

t5=(a-(t500*500 + t100*100 + t50*50 + t20*20 + t10*10))/5; //7

if (t5!=0)

System.out.printin(*5 Taka note need : “* + t5 + “ piece”);

t2=(a-(t500*500 + t100*100 + t50*50 + t20*20 + t10*10 + t5*5))/2; //8

if (t2 1=0)

System.out.printin(*2 Taka note need : “ + t2 + " piece”);

t1=a-(t500*500 + t100*100 + t50*50 + t20*20 + t10*10 + t5*5 + t2*2);
//9

if (t1 1=0)
System.out.printin(“1 Taka note need : *
b
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+ t1 + " piece”);
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F9 taka is converting in note
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class Balance {

String name;

int bal;

Balance(String n,int b) {

name = n;

bal = b;

System.out.printin(*The balance of * + name + “is” + bal);

¥

void show() {
if (bal < 50)
{

System.out.printin(*");
System.out.printin(*The balance of * + name +"” is going to zero”);

by

class AccountBalance {

public static void main (String args[]) {
inti;

Balance current[] = new Balance[3];
current[0] = new Balance(“Karim”,200);
current[1] = new Balance(*Rahim”,40);
current[2] = new Balance(“Sadek”,400);
for (i=0;i<=2;i++) {

current[i].show();

he balance of Sadek iz 408
he balance of Rahim iz going to zero
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Ba-2 : AccountBalance.java
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